Spray table for

Air injector nozzles ID 90

Air injector nozzles IDK 90

Anti-drift nozzles AD 90

Hollow cone nozzles TR 80

Air injector hollow cone nozzles ITR 80

ID/IDK/AD| TR/ITR I/min

A ‘ @ [bar]
20|30 |40 |50[60]|70]80]90][100]11.0|120[130[140[15.0(16.0]17.0|19.0(20.0
TR80-005 |60M|0.16 | 0.20 [023 | 025 [028 | 030 |0.32 | 034 | 0.36 | 038 | 0.39 041 |0.42 | 044 | 045 | 0.47 | 049 | 051
YNNI I oM | 022 | 027 (031 | 035|038 |0.41 | 0.44 | 047 |049 | 052 | 054 | 056 | 058 | 060 | 062 | 064 | 068 | 0.70
60M | 032 | 039 | 045 | 051 | 055 | 060 | 0.64 | 068 | 072 |0.75 | 0.78 | 082 | 085 | 088 | 091 | 093 | 0.99 | 1.01
AL Ll 601 | 048 | 059 | 068 |0.76 | 083 | 090 | 096 | 102 | 107 | 113 | 118 | 122 | 127 | 131 | 136 | 140 | 148 | 152
Wﬁ%ﬁﬂﬁﬁmMo%owom1m1w121%1%1%1&1m1m1m1m1%1m2m2m
YOS APIR P 60M | 0.81 | 0.99 [ 115 | 1.28 (140 | 152 | 162 | 171 | 1.81 [190 | 1.98 [ 206 |2.14 | 221 | 229 | 2.36 | 249 | 256
L LR 60M | 097 | 119 | 1.37 | 153 | 168 | 181 | 1.94 | 206 | 217 | 228 | 2.38 | 248 | 257 | 266 | 275 | 283 | 299 | 307
e NGl 60M | 1.20 | 1.58 | 1.82 | 204 | 223 | 241 | 258 | 274 | 288 | 303 | 3.16 329 341 353 | 365 | 376 | 398 | 408
ARSI 05\ | 161 | 1.97 | 228 | 255 | 279 | 301 322 | 342 | 360 | 377 | 394 | 410 | 426 | 441 | 455 | 469 | 496 | 509
ID90/120-06 | 25M | 1.93 | 2.36 | 273 | 305 | 334 [ 361 |3.86 | 409 | 432 | 452 [ 472 | 491 510 |5.28 | 545 | 562 | 594 | 609

M The stated liter-per-hectare rates apply to water B Prior to each spraying season, verify the table data by gauging the flow rates B Spray pressure at the nozzle tip (gauged with a diaphragm valve)

Using nozzles of the same
size

The total nozzle output of the
sprayer is calculated by the
following formula:

V= Mxv:-xB
600
V = Total nozzle output,
I/min

M = Liter-per-hectare rate,
I/ha

v; = Sprayer speed, km/h

B = Working width, m

The flow rate of a single noz-
zle is calculated by dividing
the total nozzle output by the
number of working nozzles.

Nozzle size and pressure are
determined by the flow rate
indicated in the table above.
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The working width corre-
sponds to the distance of the
rows, i.e. the row spacing
when every row is driven on.
If only every second row is
driven along, the working
width is obtained from double
the row spacing.

Using nozzles of different
sizes

If nozzles of different sizes are
used in a sprayer, the first rat-
ing determined derives from
the assumption that nozzles of
the same size are fitted.

The number of nozzles of the

next smallest size is taken into
account according to the total
number of nozzles.

In order to obtain the specified
liquid output (setpoint), the
pressure must be increased in
accordance with the formula
beside.

Pressure

Total nozzle output

Pressure- _ actual  x setpoint
setpoint value Total nozzle output
actual value
Example Instead of nozzle ID 90-02,

At a sprayer speed of

6.5 km/h, 600 I/ha should be
applied. The working width is
2.0 m. The total nozzle output
is then:

600 x 6.5 x 2.0
600

If 10 nozzles of the same size
are used, the flow rate of
each nozzle is

13.0:10= 1.3 I/min.

- nozzle/pressure as per
Table see above:

=13.0 I/min

ID 90-02/yellow at 8 bar

the lower and two upper
nozzles with the next smaller
size

6 x ID 90-015/green should
be fitted on both sides of the
sprayer. The total nozzle
output (actual value) is as
follows at 8 bar (actual value):

(6 x 0.96 + 4 x 1.30) I/min
=10.96 I/min.

The pressure setpoint to be
set for 600 I/ha (setpoint) is
then:

2
8x | 1301 - 112bar
11.0




